Challenge 1 Challenge 1

Lucy’s birthday is in March. Lucy’s birthday is in March.

Jason’s birthday is in April. Jason’s birthday is in April.

Lucy is 96 hours older than Jason. Lucy is 96 hours older than Jason.
What dates could Lucy’s and Jason’s What dates could Lucy’s and Jason’s
birthdays be? birthdays be?

Challenge 2 Challenge 2

Three children are running a race. Three children are running a race.

*  Tim finishes the race in 3 minutes 5 *  Tim finishes the race in 3 minutes 5
seconds. seconds.

« Lila finishes the race in 192 seconds. * Lila finishes the race in 192 seconds.

* Pip finishes the race in 2 minutes * Pip finishes the race in 2 minutes
and 82 seconds. and 82 seconds.

Who finishes the race first? Who finishes the race first?




